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#2  HAbfEbs

o H EiZR R 7y 2
KA % <12 GB 5009.3
Koy, % <15 GB 5009.4
By (BAPbit) , mg/kg <5.0 |GB 5009.12
SR (LLAsTE), mg/kg <1.0 GB/T 5009.11
MR (LAHgit), mg/kg <0.3 | GB/T 5009.17
VAVAVAVIRU Y] <0.1 |GB/T 5009.19
T, mg/kg <0.1 |GB/T 5009.19




[EMIERR] BT & RIIHE »
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mo H E{ZR LoRIIWIRFS
W 8, cfu/g <30000 GB 4789.2
K HE#E, MPN/g <0.92 GB 4789.3 MPNit%iik
H W AEERE, cfu/g <50 GB 4789.15
G vE R A BR TR <0/25¢g GB 4789.10
WITIKRE <0/25¢g GB 4789.4
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Amber lite-XAD-2 KFLW fig: & H Sigma A ]

IETHEE: iral

2 P obrat

i EAES: BT, 100~200H .

T bV PRIXEQ A FEIE,  INvK SRR Al JF 58 45 42100mL
AR et

IKZER: sy Hrat
1.8 A HEFRebr B : KIS
A I EAZE10.0mL, IRZISASE
1.2 x4
1.2.1 bttt
1.2.2 ZEHrkE
1.3 FEAACEE: FRELL.000g9/C A5 HIFE S, B T100mL &, i/ &sK, #H30min, FHKE & £100
mL, $EA1, AE, WRHN EIEWRL.OmLEE T AL E T

1.4 K2 FI0MLVESS 2845 2474, M 2E3cm AmberLite-XAD-2 KL AR, _ElnlemrbitEfbin. sEH2
SML70% £ B HeAE, FEEBEM, FEH25mLKBerE, A ELEB, RS L.OmL AR FR G A I, 2
SmL/KBEAE, FEFTEMM, FH25mL70% L BESelii N 24, WO T 28 kI, & T60°C/KMIET. LA
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AR R ] .
1.5 Wt 7E B OFET 28 R I HERR DN O . 2mLB% 75 B i UK L FRVE T, BN 28I, A A& #RVA R

FEN0.8mL = AR, RIS 5L ZEZI B0, AUE60C/KIE BN 10min, B, KIBHHE,
HERINNUK ZBR5.0mL, 422705, Lhlembl fuith F-560nm i Ak S5 hn i — b AT L el 5 o

1.6 AR WHELA S R ReAREA M (2.0mg/mL) 100pL, 7&K LG, /e AKBHET (IKT60°C)
BT (MEE RO, PUREREN “14 2N &, SREMAE. e EE.
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X = Ag/A, X CXV/mX 100/1000
Ve
X—FEmP a2t EE (LASE1Reil) , mg/100g;
AR IR TR ' P A
A, — B EVR AR ' P 1
C—HrifE NS B 1RefI &, ng;
V—FE A REAARR, mLs
m—FEam R, g.
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